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Physical Education
Paper 1II

IR forer
gyutent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

A ¢ A YA THO P9 (100) Fgort U9 fooiel oMed. T SReren g (2)

U SRd. @d U Wi

Elbow flexion occursin ........... plane.
(A) Frontal

(B) Transverse

(C) Sagittal

(D) Horizontal

Shoulder jointisa............ joint.

(A) Triaxial

(B) Multiaxial

(C) Both (A) and (B)

(D) None of the above

In............ lever effort arm is always

longer than the load arm.
(A) First and third class
(B) Second class

(C) Third class

(D) Second and third class

I SAeRaT FAed B
(A) H=2d

(B) grewere

(C) guEA

(D) 3=

(B) wigeAed

(C) =TI (A (B)

(D) et RIvTE! ATt

............ b oo T €1 T ST

g ST AT 3T

(A) 99 9 T FehITeA
(B) feeita wenre=n
(C) it Fepr=a
(D) fedita & oI Thr=A

[P.T.O.



Powerisequalto..............

(A) Wi

(B) F.d/t

(C) Both (A) and (B)

(D) None of the above

The SIunitof............. is m/s%

(A) Distance

(B) Displacement

(C) Velocity

(D) Acceleration

One Newtonisequalto..............
(A) 1 kilogram meter per second
(B) 1kilogram per meter per second

(C) 1 kilogram meter per second

squared
(D) meter per second squared

The centripetal force is inversely

proportional to..............
(A) Mass of the object
(B) Radius

(C) Both (A) and (B)
(D) None of the above

MAR - 71223/1I—B

(A) Wi

(B) F.dit

(C) (A)d (B) <=

(D) acTeht SV TRl

(A) 1 TRaIum™ HieX Udl Jehe

(B) 1 forairms gdt Hiet ydt Yehe

(C) 1 TR HeX Udi Hehe o

(D) #IeX yeft Gk =

(C) (A9 (B)3ral
(D) SXIeTtehl ShIUTART ATel




10.

11.

The stability of a body depends upon

(A) Base of support

(B) Friction

(C) Both (A) and (B)

(D) None of the above

Back spin causes. ................

(A) Decrease in height of bounce
(B) Increase in height of bounce
(C) Increase in speed after bounce
(D) None of the above

Radar gun is used to measure the
......... of the body.

(A) Strength
(B) Power
(C) Flexibility
(D) Velocity

Sports performance is the bi-product
of :

(A) Skill
(B) Conditional ability
(C) Total personality

(D) Tactical ability

10.

11.
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(A) STTERT=T 9

(B) =i

(C) (A (B) Tt

(D) SieTen! HIoe! ATl
P T — 0.
(A) IFesr=it 3= T

(B) SHesI= 3= aed

(C) TSR It I

(al

(D) ITUeh! ShIUIda! el

] A4 eh{dld.
(A) drehg

(B) ¥kt

(C) reIf=rehdl
(D) =1

HISThIEAT TS

3.

(A) =R

(B) Yol arere
(C) wafo HferTH
(D) STerl &Fel

[P.T.O.



12.

13.

14.

Concentration development

preparation comes under....... phase.
(A) Pre-competition preparation
(B) During competition preparation
(C) After competition preparation
(D) None of the above

To assess psychological potential we

use :
(I) Psychomotor test
(I) Cognitive test
(IT1) Behaviour test
(A) (I) and (IT)

(B) (IT) and (IIT)

(C) (D), (IT) and (IIT)
(D) (D) and (IID)

Which is not a method of Sports

Psychology ?
(A) Observation
(B) Introspection

(C) Rational

(D) Experimental

12.

13.

14.
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TSIl |r\0|0|')|{<| d"‘“{ﬁ] ............... < . f
Id.

(A) THEMgE TRt
(B) &l ST=IH TERT
(C) EqEFa TR
(D) =RIeAten! el

AERTETE SHd™ eI ShivdEe]

(A) (I) efor (ID)

(B) (II) for (I1D)
(C) (D), (IT) 3for (1I1)
(D) (I) mfor (I11)

TICATCUshT SRIVT ShiS] AERIETE Ugd
T ?

(A) IR

(B) SmcHa{ier

(C) difehen

(D) wrEfTeR




15.

16.

17.

Psychological factors affecting sports

performance :

(I) Confidence

(II) Diet

(ITT) Concentration

(IV) Anxiety

(A) (D, (ITI) and (IV)

(B) (II), (III) and (IV)
(C) (D), D), (IIT) and (IV)
D) (@), (D and (IV)

The S-shaped “Learning Curve”
consists of :

(A) Slow beginning

(B) Steep acceleration
(C) Plateau

(D) All of the above

The theory of Mental Discipline

considers .......c.c......
(A) Intelligence
(B) Imagination
(C) Judgement

(D) All of the above

15.

16.

17.
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Sh ISR TIHMTER T SHT0M ARSI

1) eTcEfovaTE

(I) MR

(IIT) T Tt

(IV) fee

(A) (D), (ITI) 2for (IV)
(B) (II), (IIT) 7for (IV)
(C) (D), (II), (I1I) S for (IV)
(D) (D), (ID) 3for (IV)

S-STRIT=AT ‘AT THTHED HI=T
TS Bl ?

(A) HIhIIT Hdld

(B) SINER R0

(C) Hermereen

(D) =ittt e

ATk rsdt=an fagTamed s foen
el STl ?

(A) dfgam

(B) whed

(C) o

(D) =Rietient |el

[P.T.O.



18.

19.

20.

Knowledge, analysis and evaluation

come under the ............ learning.
(A) Cognitive

(B) Affective

(C) Motor

(D) None of the above

In football match player playing at
forward position requires ............

psychological qualities.

(I) Exercise

(II) Concentration

(ITT) Adequate Aggression

(IV) Emotional Stability

(A) (D), ) and (IV)

(B) (D), (II), (IIT) and (IV)

(C) (ID), (III) and (IV)

(D) (@), (III) and (IV)

Stressis ...c.cc......

(A) Advantageous to the player
(B) Detrimental to his abilities

(C) Both

detrimental as per the situation

advantageous and

(D) None of the above

19.

20.
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.................. e
AT07 Hearm T Ad

(A) ETHER

(B) HrETcHS

(C) =

(D) =riettsht =&t

FHealcl =T Titee v Tl

ST HFHIES T T[Urer
(I) ==

(II) TR

(I1D) QL& STshHehar

(IV) At T

(A) (D), (II) &for (IV)

(B) (D, (I), (I1I) 3for (IV)
(C) (ID), (IIT) &for (IV)
(D) (I), (III) 3for (IV)

(A) TeleH HHSIMR Tl
(B) &THAT TeTadTd

(C) WBSH HEFTR & TR 0T &=
THTE! TITeATedTd

(D) S{cTdeht ATE




21.

22.

23.

24.

2 to 7 years is the phase of motor

development to teach ...........
(A) Reflexive movement

(B) Fundamental movement
(C) Sports movement

(D) Rudimentary movement

Learning about sports rules,
traditions and history are under
which of the following domains ?

(A) Affective
(B) Psychomotor
(C) Cognitive
(D) Associative

Which of the following is ‘Academic
Learning time’ in physical education
class ?

(A) Roll call

(B) Organizing teams

(C) Student practicing the skill
(D) Student waiting in line

Internship program of teacher
education provides :

(A) Content course
(B) Practical course
(C) Complete school environment

(D) Research course

21.

22.

23.

24.
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ek fahmmdie 27 7 98 g1 2w
AATIATHIS T8,

(A) wiqefra grerre
(B) HAYd Brer=re]
(C) shIel greraedt
(D) ST Bret=Te!

el 999, o, sfasa a1 M
TTETAdshT HIvTeaT 3 ferwean
S ?

(A) YTEATCHS &
(B) & &3
(C) =ErcHe &
(D) HEHRI &5

JEAdeh! hivTal WRIRE fRreror qramdia
J1e7fOTeR 31T hies 318 2

(A) SgfEerd =y
(B) H TS &0

(C) foremeft SeTeaT= T AT

(D) foaenelt AETHed dreehad e

(A) 3TRTH IUHH

(B) WrcAfersh SushH
(C) TMes YUl SATarex
(D) HeNEA 3UHH

[P.T.O.



25.

26.

Which is not included in the three
broad parameters of the professional

preparation in physical education ?
(A) Internship

(B) Laboratory and field

experiences

(C) Performance competency and

preparation
(D) Value education

Which of the following is accurately

matching ?

() Dodging a football—tactile

awareness

(II) Serving a tennis ball—rhythmic

awareness

(IIT) Running

manipulative skill

cross country—

(IV) Riding a unicycle—dynamic
balance skill

(A) (I) and (III)
(B) only (I)
(C) (II) and (IV)

(D) only (IV)

25.

26.
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EITeATeUeh] ShiordT I feraromdre

eI TARE T ¥ el 7
(A) =13 HaThIel

(B) YIRS o Y&l TN

(C) SHREHAM F&Hd & A

(D) T Torgm

qEICTUeh! IVl ST Siedl TR ?

(I) HeaicTel Sehal—IeiM

(I1) froera gfeg —arasm
(I11) ShTEeh 2! LTaO—TATIARUN IS

(IV) Ush =Teh! AR STATSO-TTTaHT
A hIvTed

(A) (I) for (11T)
(B) & (D)
(C) (II) for (IV)

(D) &K (IV)

10



27.

28.

29.

Identified content of cognitive
domain and select the correct code
given below :

(1) Knowledge
(2)
3)
4)
Codes:

(A) (2),3),(4)
(B) (3),(4),(1)
(C) (3),(2),(1)
D) (1),(2),4)

Elementary school curriculum

Synthesis
Automatization

Evaluation

should mainly focus on :

(A) Fundamental skill education
(B) Awareness education

(C) Fitness education

(D) Entertaining education

Which one of the following is not a role
of the school curriculum in promoting
an active, healthy lifestyle ?

(A)
(B)

Teaching motor skills

Encouraging participation in
physical activities

(C) Selecting the best performers for

national teams

(D)

Teaching fitness concepts

27.

28.

29.
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S N s

EIRIR R C e R I GEXI

AT Hehdih e :
(1) 9™

(2) HIeTEo

(3) FFARIHT
(4) HeIHH
Hehdidh :

(A) (2),(3),(4)
(B) (3),(4),(1)
(©) (3),(2),(1)

(D) (1), (2),(4)

TreIHeh YMasdie ASATHHHTA
Y 1.

(A) TAYd e freo
(B) SIFT&ehdal frero
(C) Brerareir= ferafor
(D) FARSH fereqor

ARTIERET 3101 Wishd ST dre e

B HTBE

AT AT JRIATdeh! Il TR
& ?

(A) HH R AT

(B) Wi Hichad WU WedTe
(C) TS el Shte BaigH! e
(D) Ggedl Heho e ST

11

[P.T.O.



30.

31.

32.

The objectives of intramural and
extramural is :

(A) To provide an opportunity to
students within the institute
that will be conducive to their
overall development

(B)

To display their skills in various
sports

(C) To have limited exposure to the

competition

(D) To gain experience
announcing and comparing as a
part of their training

In the matter of health one should
always :

in

(A) Follow traditions and customs
(B) Act upon parent advice

(C) Beguided by the light of science
(D) Believe in prevention, not cure

Mark the proper sequence if the four
complex food process as they occur in
the human body :

(A)

Assimilation — Absorption
Digestion — Ingestion

—>

(B) Digestion — Absorption —

Ingestion — Assimilation

()

Ingestion — Digestion
Absorption — Assimilation

—>

(D) Absorption — Ingestion —

Assimilation — Digestion

30.

31.

32.
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AT 9 R Wi I oSl

(A) gaimo fammgrEret T8 siqaid
foeneafa G} Suctsy e <0

(B) fafay @ Siveara yegi ol
(C) = waifed yegiHmEmst

(D) fo=neat=n gfereromsn wr & ity
31l THezd o wefeld shevamerdt

(D) STERER 7 Al Hiqeremer fagamd
HL0

TS TR IR Sfed ST gfsharn
A SHY AT

(A) THATHI — TMHO — TG —> 3T
TreTd S0

(B) 9= — SO0 — 71 W SO —>
THATHLT

(C) 3T GIerd Sl — g —> MO0 —>

THATHI

(D) TMHOT —> 37 YIS ST —> TehATh 00
— 9=

12
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33. Which of the following foodstuffs | 33. Wil IV ST TSAHIELT Hel 37
contains almost all ingredients of TFHE] GHEY 3T ?
balanced diet ? )
(A) 9™
(A) Meat
(B) Chicken (B) I
(C) Milk (C) 34
(D) Fish (D) 99
34. Which of the following is not an agent | 34. WTeiiciush! vl 3ioe FRATR=T T2
of substance abuse ? & ?
(A) Lipids (A) foded
(B) Tobacco (B) demE
(C) Opioids (C) sMifyAteed
(D) Marijuana (D) wfeT
35. Which of the following conditions is | 35. ®Iet@d®! Hivrdt gfifeydt fearen
life threatening ? HIhICES 38 ?
(A) Heatradiation (A) 3 fafeo
(B) Heat exhaustion (B) 30 g&hdl
(C) Heat stroke (C) 3™H dsmEn
(D) Heatloss (D) 3tH JhE™
36. Which communicable disease is also | 36. ®ITeiaTdehl HITTAT FHIAST QTAT
known as ‘Hydrophobia’? SR AT T 3@t S 7
(A) Hepatitis A (A) efremfew a1
(B) Rabies (B) o=
(C) Tuberculosis (C) SRS
(D) Leprosy D) o
13 [P.T.O.



37.

38.

39.

What is known as the primary

instrument of Health Promotion ?
(A) Sanitation

(B) Medical care

(C) First aid

(D) Personal Hygiene

The School Health Education
Programme can provide service to the

extentof ...............

(A)

Medical examination

(B) Medical care to the limited

extent

(C) First aid for cuts, bleeding,

dislocations etc.

(D) Complete treatment for diseases

and disabilities

Name of the theory of recreation
which says that ‘Play is motivated by

a search for Pleasure’ ?

(A) Catharsis theory

(B) Theory of Hedonism
(C) Surplus energy theory

(D) Arousal-seeking theory

37.

38.

39.
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AR F&dt &1 hive FUfHe TeE
et S ?

(A) T
(B) Scushia gfawn
(C) JYHITER

(D) SafReh =l

RICREEIR AN L K RE R NGRS
qfereft SITd 2

(A) St =rel

(B) wAifed Jeehia gfaen

(C) HTIIT YLUHITAR, RHE 9

e 3.

(D) TSI 37T ST&de] qul 3TaR

‘e Y % FE TROT e e

I FARSHN fHgid o ?

(A) fo=m fagia

(B) focmrmaem=n fagm
(C) Afafte it fagia
(D) Sare-wy fagrd

14



40. Which of the following is the objective

41.

42.

(1)
(2)
3)
(4)

method of measuring physical
activity ?

(A) Log book
(B) Goniometer
(C) Pedometry
(D) Diary

Factors affecting the pace of recovery
are:

(I) Intensity and load volume
(IT) Health and Physical Fitness
(ITI) Nutrition and Diet

(IV) Sleep and rest.

(A) (II), (III) and (IV)

(B) (D, (IT) and (III)

(C) (III) and (IV)

(D) (D, dI) (III) and (IV)

Match List ‘A’ with List ‘B’ and select
the correct answer :

List ‘A’

Aerobic

List ‘B’
(I) ATP-CP
(II) PNF
(ITI) 220-Age
(IV) VOy max
4)
(D
(IvV)
(I1D)
Im

Anaerobic
Stretching
MHR
(1)
(A) (1D

2 O
(Iv) (IID
(B) ) 1D (@
©avy @O dn
(D) av) dImn @

MAR - 71223/1I—B

40. YEIeTen! hIvd IR |fshadr A=

41.

TS e T ?

(A) &M gh

(B) ThfefHiet

(C) TSI

(D) <=

gAY e IO 0R EEh

(I) iteran ST YR SATRREA
(IT) ST A0 AR qgew
(ITI) 9T SATfU7 38R

(IV) =i emfor fagrdt

(A) (II), (III) =7for (IV)

(B) (I), (IT) fur (IIT)

(C) (III) =fur (IV)

D) (D), (IT) (III) 2for (IV)

42. AR A’ SO ‘B’ S[esa ST A gy
IREEIE

(1)
(2)
3)
4)

qrEr ‘A’ qEr ‘B’
wifeh (I) Td-Hid
CEREED (I1) dreaTs
qroToy (IIT) 220-=4
FAA &&T X (IV) VO, T
D @ B @

(A) (II) av) din @

(B) I dIn @ v

©av)y @ dn (dm

D) av) dn @ (I

15

[P.T.O.



43.

44.

45.

46.

Calculate THR at 90% intensity for
25-year old sprinter whose RHR is 68
bpm and who wants to perform 5 min

anaerobic activity :

(A) 179.3 bpm

(B) 181.3 bpm

(C) 180.3 bpm

(D) 182.3 bpm

Basic principle of fartlek training is :
(A) Variation in space

(B) Variation in pace

(C) Variation in duration

(D) Variation in time

Style is individual expression of ..........

in motor action.
(A) Technique
(B) Tactic

(C) Strategy
(D) Competition

The objective of endurance training

istodevelop.............

(A) Energy production system
(B) Physical fitness

(C) Motor fitness

(D) Motor skill

43.

44.

45.

46.

MAR - 71223/1I—B

25 8 T fet= RHR 68 bpm A
@ 90% tadd 5 fafe sHudifas
gIeTTCl ShUer ATl 3178, ATHIS! STUferd ged
LS T .

(A) 179.3 sdiTH

(B) 181.3 sdiTA

(C) 180.3 sidiTA

(D) 182.3 idITA

TIEcTeh TRI&UTE HeAyd a
(A) ST ST

(B) Trild oIl

(C) wIcad sied
(D) <o I&dA
FRF Fld el AR AT

16



47.

48.

The adaptation takes place faster in
caseof ........... athletes.

(A) Advance
(B) Beginners
(C) Intermediate
(D) Experienced

Extremely high load cannot be
tackled for long by sportsmen unless

process are supported and
accelerated by some means.

48.

MAR - 71223/1I—B

SO TITHA SHeATRIEM™ eI Jrehies

AfTS=aIR de ond R[N VIR "Il‘éql.

(A) ¥R
(A) Load
(B) Training (B) FRrE
(C) Recovery ©) Eﬁ';l‘f‘l?ﬁ
(D) Practice (D) w0
49. Combines a variety of exercise or | 49 forferer samam yehr fohet hiwedr=t T
skillsintoalapis............... I/ R WIS TS
(A) Cross training (A) shTE FfeTeror
(B) Weight training (B) YR gfyrero
(C) Fartlek training (C) was gfdnemo
(D) Circuit training (D) wfee gfreqon
50. ......... phase is used for active recovery | 50. wfera gAY T gAYRemEe
and regeneration. TUATET ST B
(A) Transition (A) T
(B) Competition (B) e
(C) Preparation ) ﬂ'ﬁzﬂﬁ
(D) Skill training D) e ghE
17 [P.T.O.



51.

(@)
(b)
(c)
(d)

52.

Match the following classification of

body composition with their
standards :

List-I List-II
Overweight (1) 18.5-24.9

Underweight (2) 25.0-29.9
(3) Below 18.5
(4) 30.0 and above

Obesity
Normal
Codes :

(a)
(A) (4)
(B) (@)
C) @)
D) 3)

(b)
3)
3)
@) 1 @
2 @ @

Select the correct answer from the

(c)
(1)
4)

(d)
(2)
(1)

choice given below :

(I) In the skinfold test all

measurements are taken on the
left side of the body.

(ID

BMI is not a recommended
procedure for determining body

composition.
(A)
(B)
(C)
D)

Both (I) and (IT) are correct
(I) is correct and (II) is wrong
(IT) is correct and (I) is wrong

Both (I) and (IT) are wrong

51.

(@)
®)
(c)
(d)

52.

MAR - 71223/11—B
qela foaiean IR ered aeffehune

THIUTRTRIER A Siedl e
arer-1 ret-11
ELSECSE| (1) 18.5-24.9
ERINCEE (2) 25.0-29.9
ESll (3) 18.5 U !
= (4) 30.0 3TfUr &AfeeR
Hehdlah :

(@ b)) @ @
Aa @ 3 @O @
B) 2 B @ @
© 2 & 1 @
M & @ @ @

et Al S ArT G

as &3 ;
() T=Twics FEEHES 9d 999 7

oY N DN
RIKT=AL sled] dlsye efdet sildld.

~

(I1) IRR FeeA Fiv=d sam ot uH. 31
1 gt TR shetell ATEl.

(A) T (1) 2for (11) B ssR 318

(B) (I) % a&R 3fin (11) ® 9 3T
(C) (II) & SR 3T M0 (1) B I 378
(D) =T (1) 37T (10) § = =T
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53.

54.

55.

56.

57.

Duration of McDonald soccer test

(A) 30 min

(B) 1 min

(C) 30 sec.

(D) 10 sec.

Which of the following is not a
method of reliability ?

(A) Test-retest

(B) Split-half

(C) Content

(D) Parallel form

When individuals are expected to
perform at a specific level of
achievementis called ............

(A) Standard

(B) Criterion reference norms

(C) Norms reference norms

(D) Validity

Psychological tests are based on ......
(A) Behaviour rating scale

(B) Reaction time

(C) Concentration

(D) Accuracy

Item difficulty index can be found by
dividing the number of the test takers
correctly answering each item

(A) The total number of Girls

(B) The total number of Boys

(C) The total number of questions
(D) The total number taking the test

53.

54.

55.

56.

57.

MAR - 71223/1I—B

YIS Mo Tl hAe= Shlaael

3R,

(A) 30fHfe
(B) 1fafte
(C) 30T=+g
(D) 10 ¥%g
qErerdsh! hivral favagrad=t Tgdl
& ?

(A) TRArE
(B) 9
(C) IR
(D) FHERR

IR e Siogl HEAMMET fafime R
STUTeTd Tl deal I h1d WU ?

(A) YHTSH
(B) fere Geuid s
(C) | HgHid A

(D) e
YSRGS e = T SMYRAHT

(B) 9fdferan &ies
(C) Tehmudn
(D) Tgehdl

qTe STHEATH YA ShIfguauTdas]
RENIEE R

(A) TeIT= TR TE&A

(B) HAT= THI HE&AT

(C) AT THYT HE&AT

(D) =HEEt o= foreneaf=f wshu e
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58.

59.

What is the problem with this set of
response categories to the question ?
What is your current age ?

(1)
(2)
3)
(4)
(A)

10 or less
10 to 20
20 to 30
30 to 40

The categories are not mutually
exclusive

The categories
exhaustive

Both (A) and (B) are problems

(B) are not

(®)

(D) There is no problem with the

above set of response categories

What is the appropriate sequence of
constructing psychomotor test ?

(D
2)
3)

Pilot testing
Establish detail procedure

Determining validity, reliability
and objectivity
(4) Review of the literature
Codes:
(@)
(A) (2)
(B) 4)
C @)

D) D)

(b)
(4)
(2)
3)
3)

(c)
(1)
(1)
(1)
(2)

(d)
3)
3)
4)
4)

58.

59.

MAR - 71223/1I—B

el faasterrean Tammed &g
3R ?

T IAHE 99 H1 3T 7

(1) 10 foar &t

(2) 10420

(3) 20430

(4) 30140

(A) ICEI 3T AR

groft afeqet =t
(A) 3T (B) Tl FH&

ool foreRtieh=aT TS ST o
-

I HEe! ST A7 A w2
(1) TeRt et

(2) ot shrEivgdl Tenfud o

(3) e, foreeraiaar it sRqgfTsea
et

(4) G wfecm=n eTerE
Hehdieh :

(@)
(A) (2)
(B) 4)
©) (2
D) (1)

(B)

()

(D)

(®)
(4)
(2)
3)
3)

(c)
(1)
(1)
(1)
(2)

(d)
3)
3)
4)
4)

20



60.

61.

62.

63.

In the scoring system of body type are
graded in a scale from ..........

(A) 1to10
(B) 1to7
(C) 1t09
D) 1to8

Identify the managerial function out
of the following functions of HR
Managers :

(A) Procurement

(B) Development

(C) Organizing

(D) Performance Appraisal

The most important information a
meeting planner can determine prior
to an event is :

(A) Past events held by the group
(B) Expected attendance

(C) The budget

(D) Group demographics

Determining where a special event
should be held, what helps the event
planner in deciding the location of
event :

(A) Research
(B) Design

(C) Planning
(D) Coordinating

60.

61.

62.

63.

MAR - 71223/1I—B

YRR YR UM JOTetrd Sof
THOT fee T S

(A) 1910
(B) 147
(C) 149
(D) 148

TH. AR HANH=AT TIedtd HTAA
LA hTrel Aol Tl :

(A) =

(B) foerm

(C) SEsH

(D) AR FeIETa

TEIEN ShishHTgat HifeT iR gR Heiia
jf—gr ‘;ﬂwrnﬁ Hatd HexaTet Hifgdt H

(A) Toee gt TSI AN shredshd
(B) 3afera Iufeerdt

(C) &

(D) T AR

o9 HTEHA HIS TATSA hedl Sl ®
f¥=q L0, ST g WA § 3aul,
ETATAUeh! Seged T ST i Hed

EXGI

(A) weled
(B) fesmE
(C) frimm
(D) TE==
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64.

65.

66.

67.

What is the second stage of event
planning process ?

(A) Planning
(B) Research
(C) Design
(D) Evaluation

Which of the following is not a main
reason for the growth of sports
sponsorship ?

(A)
(B)

High feedback opportunities

Its propensity to attract large
audiences

(&)

Simple segmentation, large
audiences who share similar
characteristics

(D)

The most popular form of sports
sponsorshipis :

(A) Individual
(B) League
(C) Team

(D) Event

Which set of characteristics most
accurately describe PR ?

High visibility opportunities

(A) High cost, high credibility, low
control

(B) Low cost, low credibility, high
control

(C) Low cost, high credibility, low
control

(D) High cost, low credibility, high
control

64.

65.

66.

67.

MAR - 71223/1I—B

% FSE Tfshad U < &

R ?

(A) =

(B) weiEA

(C) =1/ 3ATEt

(D) eAHA

IS HTAISTheaT=AT JTEETa! Telerdeh]

IO H&A IR ATEr ?

(A) =3 wieds et

(B) il Y& STeh{tid shoar=il et
EER]

(C) Hre HIHIYH, oM Torafersern
BICISECE D]

(D) =3 SIIHM Helt

Qo] UTEISToha=l ol g HhiH

IV A ?
(A) Safxrh
(B) M
(C) dm
(D) wEiHA

0.3, ST FUH HLOM=A A=

IO T AR ?

(A) 3=9 fouq, =9 favaaiaar, s
BREL

(B) =l forma, ==l favawsiadr, =9
IBREL]

(C) =4t foua, S=a fovaaaar, &
IEREL

(D) s=d forma, st fovarariaa, Seu
IBRELI
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68. Which of the four PR models set out | 68. Teiel ¥R W.31R. HISTHUH] HIVK WS
below is used most by practitioners ? I S IUANT i ?
(A) Symmetric (A) gHfHd
(B) Asymmetric (B) erEmfHd
(C) Public Information (©) WW
(D) Press Agentry (D) 8 Twied
69. Inspiring the staffis a good reflection 69. wmﬁmww
of which type of skill ? :
(A) Negotiating (A) drerETet
(B) Leadership (B) e
(C) Project management (C) Feheq HTTATIA
(D) Budgeting (D) 9=
70. Match the following : 70. ©ele SEl Sl
(@) Pugilists (@)  Golf 1 A
®) ij:;;i’h (ii) Basketball by T G 5
(c) Da James Nai (iii) Boxer (c) 1 5= A (izi) SRR
Smith ey
(d)Putting (iv) National () gfe (iv) T T
football e
champion D .
Codes : ’ Hepdieh
(@ b)) ©© @ (@ @) () ()
(A) G) Gi) @) Gv) (A) G) Gi)) G Go)
B) @) @) @) @ (B) Gv) @) @) @)
(C) @) Gv) @ @) (C) @) ) @) @)
D) G@i) @) @) @ D) @) Gv) @) @)
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71.

72.

A test of statistical significance

indicates how confident the

researcher is about :

(A) Collecting data properly

(B) Inter-tester reliability

(C) Understanding the data
analysis

(D) Generalizing their findings from

sample to population

Which of the following is not the

purpose of literature review ?

(A) Identifying the research

problem

(B) Developing hypothesis

(C) Collecting data

(D) Developing method

71.

72.

MAR - 71223/1I—B

qifezeht eferar gifarn=an ATeHTqA

[N

TNk ATelTeidia fHie=d 3

(A) I TG Hifedt Teherd o

(B) eTai-vdiereh fawemaan

(C) wfedt fargerer qHso!

(D) —ARITE A TRt STEEHIe!

Y= eh 0T 0]

Heofarfecaran steman Svar qeierient

IO HTE AT ?

(A) HINET THET s

(B) uReheqn fasmfaa o

(C) wfedt TMeal ol

(D) Ygdt fasiaa o

24



73.

The informed consent given to the
research participants includes

information about :
(z) Purpose

(i1) Procedures and risks

MAR - 71223/1I—B

73. WY HREEeRH feeied  Afedgel St

TG T Hifea! feeiett 3T ¢
() HENe B
() YA Yfshan 9 T ek

(i) S 9 T g

(zii) Benefits and alternative
procedures iv) = T
(fv) Limits of confidentiality
(A) (@) 301 (i7)
(A) (@) and (i7)
(B) (), (i1) 31 (iv)
(B) @), (@) and (iv)
(C) (i), (i) and (iv) (©) @), Gi) S o)
(D) (@), (i), (ii) and (iv) (D) (@), (D), (i) S (w)

74. In SPSS which menu item contains | 74. THYUHTH e 0l H*y-lw?@ ERER
procedures to manipulate (T T R ST 2
variables ?

(A) % 7=
(A) Graph Menu
(B) SEIHY
(B) Data Menu
(C) Transform Menu © = fl?_[
(D) Analyze Menu D) sf IlﬁlléElﬁq
25 [P.T.O.



75. Don’t you agree that athletes should

76.

get better facilities than they

currently do ?

The question above is :

(A) Leading question

(B) Loaded question

(C) Double barreled question
(D) Double negative question
An intervening variable is :

(A) Another term for dependent

variable

(B) Another term for independent

variable

(C) Responsible for the relationship

between independent and

dependent variable

(D) a variable that is manipulated

by researcher

MAR - 71223/1I—B

75. ge fHesumea gfawiien iy =mTe

76.

gfaun Uare e e/ qle ared

&l &1 ?

(A) femeels g

(B) vo& U¥d

(C) T Sef=n Tehs HHTALT STEHUR LA

(D) fg--rruedt wea

eI Ic] WU

(A) Tt SerErS= adiE 9=l

(B) wansrlt srerene=h vt wa

(C) TS o ST T el TEenfad

BIUIES! ATEYIH o

(D) wEiEeR fEfa woe 9a
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77. Match Column-I with Column-II :

Column-I
(1) External criticism
(2)
3)

(4)

Internal criticism
Positive criticism
Negative criticism

Column-II

(1) Establishing the reliability or

authenticity and accuracy of the

content of the document.

(z1) Validity, trustworthiness

authenticity of the source.
(iii)

information contained

sources.

(tv)

or

Reliability or accuracy of the

in

Ensuring that the statements

made or the meaning conveyed

in the sources is correct

Codes :

L @ @ @
A) @) @) Gv) @
B) @) Gv) @) @)
(C) () @ @) @)
D) @) @) GiD) (o)

MAR - 71223/1I—B

77. WY1 SN0 WH-11 Hefted e Jeoal :

wY-I

o oo

Sfeid Tafehed

afqa fafeca

(1)
(2)

gohcHeh  Tafehedl

TR Tafehea

3)

4)
wH-11

() TEUSSA SR forgeraraan

fear sfayamfqar @ srgeal
e Y.

Hraret aerar, favarardar, fwa

SFITHTOf

(iif) Bamee Hifedret favagHrear, fehan
STl

(iv) ARfoaer Sad T8 @ TR

(i)

RBIUTI 379 SR AR ATl S Lo
Hehdieh :
L @ @ @
A) @) GiD) ) @)
B) Gi) Gv) @) G
©) () @ G D)
D) @) G G ()
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78.

79.

80.

What is the difference between a bar

chart and a histogram ?

(A) Histogram doesn’t show the

entire range of scores

(B)

Bar chart are circular and
histograms are square

(C) Bar represents numbers and
histogram represents percen-

tage
(D)

There are no gaps between the
bars on a histogram

Statement I : In any distribution,
the median must fall at the 50th
percentile.

Statement II : All unimodal
distributions are normal.

(A) StatementIis true, statement II

is true

(B) Statement I is false, statement

II is false

Statement I is true, statement I1
is false

(&)

(D) Statement I is false, statement

II is true

Critical reading means :

(A) Taking an opposing point of view

to ideas expressed

(B) Evaluating what you read in

terms of your own questions

(C) Being negative about something

before reading

(D) Skimming through the document

78.

79.

80.

MAR - 71223/1I—B

e (IR 910) o feum™ ams
e ATl ?

(A) o= graieshi=n 9 fawr
Teiferet S Aret

(B) o1 =TE ek R &2 Senit
KSrerl|

(C) 9RERER & R fee i <eharl
UG

(D) ferumH=a W|aHey a9

faeam I ; FIoTcet faawond, HeTm 50 &

STAdHeRTEE 3TT@osd.

faerm II : THhegash STHeiell |a foae
T ST

(A) faum I 97 omR, faum 11 9 3T’

(B) faum I s/ o1e, faum 11 s
3T

(C) faum Iv o1, faum™ 11 319 o1

(D) faum I /e o1R, faeam 11 9 o1e

fafercdes aM =M U ¢

(A) AT Hedr=A faliel gt/
30

(B) T@q:A1 TFATAT YYATGR aATaA
ST JEIHIH hL0l

(C) Ir=ATgEt= SRTHEEA ThRIcHehdl
0

(D) TR SIS HTesul
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81.

82.

83.

84.

The Olympic Motto “Citius, Altius,
Fortius” means:

(A) Serious, highest fortuitous
(B) Swift, tall, fortified

(C) Faster, higher, stronger
(D) Swiftest, highest, fastest

In which Olympics were Gold Medals
first given to the winners ?

(A) 1928 Antwerp
(B) 1908 London
(C) 1900 Paris
(D) 1896 Athens

In which year Commonwealth
Games are started ?

(A) 1896
(B) 1906
(C) 1911
(D) 1915

Which of the following is not a
characteristic of balanced, healthy
lifestyle ?

(A) Exercising regularly
(B)
(®)

Drinking water regularly

Only drinking 5 units of Alcohol

per day
(D) Eating plenty of fruit and

vegetables

81.

82.

83.

84.

MAR - 71223/11—B
Attty sligamem ‘fadiaw, sedibg,
Fifcaq’ TS
(A) TR, 3=, 33
(B) =Yes, 3, ASTe

(C) Afeer aEM, sifus 3=, =1fae
TSH

(D) Tdid 998, Tl 39, Taid <ol

e stffefus wwefved afeearar gt

qgeh QUATd STl 2
(A) 1928 sTf=ad
(B) 1908 e
(C) 1900 9"
(D) 1896 3Ta=H

TSR T4l I deht & e ?
(A) 1896
(B) 1906
(C©) 1911

(D) 1915

TITeiTeTdsh! 10 Tk Fqrad,

SICEMGIERC IS F W
(A) Trafauo == o
(B) frafaq aroft fuoy

(C) TS 5 e Tenera fo

(D) SRYT JHIUNG Ted S0 9rs1 @iy
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85.

86.

87.

In Olympic games players securing

fourth to eight position are honoured

(A) Money

(B) Felicitation
(C) Medal

(D) Diploma

The Rajiv Gandhi Khel Ratna Award

instituted in the year :
(A) 1991-1992
(B) 2001-2002
(C) 2011-2012
(D) 2006-2007

The Sports Ministry’s scheme ‘Pykka’

stands for :

(A) Panchayat Yuvak Krida Kendra

Association

(B) Planning Yuva Krida Khel
Abhiyan

(C) Panchayat Yuva Krida Khel
Abhiyan

(D) Planning Yuva Krida Khel
Abhigyan

85.

86.

87.

MAR - 71223/I11—B
AifeAfger WRd IR O 373 HHh UId
<h {UT-Y] {QlodISC\H

4.
(A) T

(B) HehX

(C) 9h

(D) TeeiTeht

TS TMER | T GIERR HI0Te]
O SUAE R FTedl 2

(A) 1991-1992

(B) 2001-2002
(C) 2011-2012

(D) 2006-2007

T AT IRt IS WU

(A) 9ETId g1 HIST e STHIATIH

~

BRISE

(B) a1 kel W AT

(C) 9=mad o shiel Td ©d ATIH

(D) I hiel T AT FeH
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Option Athletes

(I) 800 m swimmer

driver 15+ 3-5

(III) Long jumper 3-6 3-5

(IV) Weightlifter

88. In volleyball, which movement

pattern helps produce sufficient

velocity and accuracy to serve the

ball underhand ?

(A) Moving the striking arm in a

pendulum swing

(B) Shifting body weight rapidly to

backfoot

(C) Keeping trunk motionless

(D) Minimizing bending of knees

89. Select the correct option of an example

of specificity in strength training :
Reps Sets Resistance Recovery
3-10 2-3

light 2-4 min

(II) Spring board

light 30-90 sec.

2-4 min

heavy

10-15 2-3 heavy  30-90 sec.

A) @D
(B) (II)
(C) (11D

(D) (IV)

88.

MAR - 71223/11—B
HIATATE T ETE- T T G
ST U] SHITITHIS! IVl BleTaTd Heh

Hgd &d ?

(A) HRUFTET B ATTRTSHTo fthteol

(B) IET YR 92ehd HFMA graral
TLha0l

(C) ¥ feer a0

(D) T[S STRUl HHT B0

89. ek ufvrefurd fof¥red=an eretum=n a4
= et
e wemE W w o T
(I) 800 . Seraworae 3-10 2-3 Bl 2-4 .
(I1) g &irE graees 15+  3-5 TART 30-90 &.
(I11) =it <21 Bars. 3-6 3-5 Ei! 2-4 fa.
(IV) 32 fawex 10-15 2-3 Eigl 30-90 =.
(A) (D)
(B) (II)
(C) (II)
(D) IV)
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90. Main consideration for effective

91.

92.

periodization should be .........

(A) Skill development

(B) Achievement of top form

(C) Development of tactical ability

(D) Base creation

The site of fatigue in neuromuscular

junction is due to decreased release

(A) Ca™

(B) Acetylcholine
(C) H*

(D) Lactic acid

This type of exercise causes the

greatest DOMs :
(A) Eccentric
(B) Concentric

(C) Isometric

(D) Isokinetic

MAR - 71223/1I—B

90. YTl Tt FHASHEE 9qE

91.

92.

(A) SR T

(B) 210w 9T S0

(C) SEU=ETHS: &Hd= faehm

(D) 9™ TR R0

SARIHSS SITSTHE FehUaTe ¥ ™ =41

TS BId-

(A) A
(B) sffqerEeriicH
(C) TS

(D) e

RIUTT JehToA] TS Fallfeeh SR
et gt 2

(A) THIH
(B) IR
(C) AFEHI®

a

clen

(D) STIHERTIA
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93. Volume of air remaining at end of | 93 e SegaTaHm & Uleeiear &=
maximal expirationis: | SN
(A) Residual volume (RV)
(B) Expiratory Reserved Volume (A) e TeTRT &l
(ERV) (B) et &l
(C) gllisi)ratory Reserved Volume O L ——
(D) Tidal Volume (TV) (D) feraTEd &=
94. Match the following : 94. SISl AT ¢
Action forar
(1) Flattens (1) HUETR
(2) Raises Ribs (2) TSI SR IR
(3) Elevates first and second ribs (3) dfeean d SE-I1 HET STAUR
(4) Elevates sternum (4) TCH IFAR
Muscles Acting During Exercise STITHTEAT desl ATl SITuTR RSN
(@) Scalene (@) Thod
(b) Sternocleidomustoid (b) TEHAGASHERES
(¢c) Diaphragm (c) SI%HM
(d) External intracostals (d) TR Sereiee
(1) (2) 3) 4) 1) (2) 3) 4)
(A) (o) (@) d () (A) (o) (@) d )
(B) (a) (b) (c) (d) (B) (@) ®) (c) (d)
(C) (o) ®) d) (o) C) (o) ®) d (@
D) (o) d) (@ () D) (e) (d) (@ ()
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95.

96.

97.

The study of the physical laws

governing blood flow is :
(A) Pneumatics

(B) Hydraulics

(C) Hemodynamics
(D) Hemodilution

An increase in stroke volume in
response to an increase in the volume
of blood filling the heart ventricle

during diastole is ............. law of the

heart.

(A) Boyle’s
(B) Charles’
(C) Sterling’s
(D) Newton’s

A normal adult daily protein

requirement is about

per kilogram of body weight.
(A) 4.0
(B) 2.5
(C) 2.0

(D) 0.8

95.

96.

97.

MAR - 71223/1I—B

T gaTe Tt difdes Femm=an s1emdre

(B) BEgiics™

e ST FHROM ST SThRATT el
(A) arFa

(B) =ed

(C) w=Xfem

D) =
TehT UIe SHekiTell Yedieh TRl TUTHTHED SIS

(A) 4.0

B) 2.5

(C) 2.0

(D) 0.8
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98. Ahormone secreted by the alpha cells | 98. U=hIATSHE T STehT URAHET Bl
of the pancreas that causes increased ST |1 Bl SATHes e e
blood glucose levelsiis........... THTOT .

(A) Glucagon (A) TSI

(B) Glycolysis (B) TR
(C) Glycogenolysis (C) TeHehISHIAHEH
(D) Osmosis (D) SIrEHad

99. The diffusion through a semiper- | 99, N FH Hi5d FaRA R B FATHS
meable membrane of a solvent from 7T TR eI TER Ao HREe
lower to more concentrated solution | ...

Y UL
1T
. (A) SafaERo
(A) Osmosis
(B) Diffusion (B) ¥R
(C) Oxygen debt (C) HIuEry A9d
(D) Dyspnea (D) fewufn

100. Lack of adequate oxygen due to | 100. sToara UvEmr Tl ST ST
reduced oxygen partial pressure T o TS S
1T J

VNI REIEIRI
(A) Hypoxia
(B) Hyperoxia (B)
(C) Oxygen abundance (C) WU TAfe STHo
(D) Hypotonic (D) BrEdRfH
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